Worksheet -1 Referring chapter 2

Work sheet-1

1.

Using the Bisection method find the solution to the cubic equation x'+dx'-10=0
Use the starting interval [&- bl =1[-1, 2]

Using the False position method find the solution to the cubic equation '+ dx’-10=0
Use the starting interval 2. bl =[-1, 2]

xi

Using the Fixed point iteration technique find the solutionto . = = g[x] = 5t %

Use the starting approximations po= 2.03 first and then po=1.95

Using the Newton- Raphson method find the solution to ArcTan[x] = 0 Use the starting
approximation Pa=1.35

Using the Secant method find the solution to ArcTan[x] = 0 Use the starting
approximations Po=1-35 gnd p1=1.30




